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M- (B H) - HEAY - B2  OH &EIE H D=2
S e ° - = Rl e = 0:”/&,% Lsa
SN 13,217,619 13,207,825 9,794
Al 152,450
- 13,065, 169
cl 9,128,247 8,428,958 699,289
Al 92,450
- 9,035,797
st Jtzstd Xy 126,250 75,750 50,500
Al 44,450
- 81,800
RSt HelotsS)| 24,070 23,770 300
Al 2,450
- 21,620
201 B2 IH| 7,640 7,620 20
01 At 22|l 7,420 7,420 0
O E-2EY MUY X2l 224+ (2HA)
35,000& * 1 +x57 1,995
O dALxE 2 5,000& »2H *250 2,500
O RJ&EL & AlH|
5,000 14 »85 425
O didHEaH [ & 2,500
-z 2R SERELS
250 *10,000AI CH 2,500
02 E3=2g4| 220 200 20
O 8E0Igd 2z HH0oIE HIS
220,000& *13] 220
203 PR F2lH| 2,550 2,550 0
03 AMF=RHRF 2,550 2,550 0
O MRst o2 st Al FZY|
1,000, 000& *85% 850
O &&d0IsHd 2,000,000 *85% 1,700
206 i = Hl 9,380 9,600 N 220
01 =4l 9,380 9,600 A220
O WRst =2 et H3agE 2 9,380
- III2EAE 2,500 *76H * 40 7,600
- W=J ¢ 9,000& *20H 180
- 4,000& 20071 800
- &332l s 4,000& 2004 800
401 AIEHIZL 2 0HYI 1,000 1,000 0
01 Al &HI 1,000 1,000 0
O Jzslle 2 100, 000& * 1094 1,000
405 RtakFE S| 3,500 3,000 500
Al 2,450
- 1,050




AN HAMHD
F: HAze
el RS JtZSEXH (e E2
_ _ NE
SH-EFHHA(FA) - NIRAE - BES 01l A+oH loﬂ/l\_Fo” Hws2
01 AL =SS FHSHI 3,500 3,000 500
O IHZ2EXNE &X 350, 000& =104 3,500
Al 2,450
- 1,050
MYJ| SEHEI| o 102, 180 51,980 50,200
Al 42,000
- 60, 180
201 L2 IH| 22,180 33,980 A 11,800
01 AtR2tel bl 6,580 6,280 300
O SYEI 212 M 10,0002 *500% 5,000
O RHUED| YEelg 2XAM 60,0002 *38f A 180
O HEMEHIIS HERE EE22 ME
140& *10,000& 1,400
02 232gHl 15,600 27,700 212,100
O 22 ZAI3t0iet 2IHY 3ld A8 E
1,300,000& *12& 15,600
401 AIEBIZ 2OHYI 20,000 0 20,000
01 Al &8I 20,000 0 20,000
O JAAZAIDt0et OlMEX & X B
20,000,000& 20,000
405 RtabFE S| 60,000 18,000 42,000
Al 42,000
- 18,000
01 XML SEHSHI 60,000 18,000 42,000
O JAZZAI5t0 2t &X 6,000,000 =10CH 60,000
Al 42,000
- 18,000
HAXE Sis =& 130,645 183, 100 AbB2,455
HAXESUHS = 130,645 183, 100 AB2,455
201 82| 129,195 126,650 2,545
01 AR 2teld| 1,200 1,200 0
OHAXY Rz SYI(MI ARSI A
) 1,200 »23] 201 250 1,200
02 2223l 127,995 125,450 2,545
O 0Ex =8 L =4I 7,156
- EOI X & =2l 500, 000& *5CH 2,500
- S50 1,940& *403| x5CH = 12& 4,656
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O #Eaxtg =4 4 RIH| 73,418
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- 32(1E~2.58) 427,200 »2CH 855
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01 =4 1,450 1,450 0
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304 793 %18,20001 <122 17,254
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- S38SF 25,344
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504 1162 +8,00001 =12 11,136
100 £ 2163 +5,0000H* 12 12,960
- NEEE ST 53,364
304 793 +5,00000 « 122 4,740
504 1162 +7,00001 x 123 9,744
100 £ 2163 +15,00004 122 38,880
- AEEE 250,954,000 #0.55% 1,381
O PPOCH 7,740
— ASEDIS0HH 1,440
504 300& *4000H =122 1,440
- SSE0HH 6,300
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O MEEE SASHE 238
- ME(60£,1204 ) 39.6& 50001+ 12& 238
MBMY I HI|=H HY 7,231,858 6,568,520 663,338
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NICEEET 8,000 8,000 0
O 013G MBHI| £ - S0 DIZSIEL
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301 etz azd 600 0 600
12 J|Et2 &3 600 0 600
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307 QI2tol ™ 6,845,018 6,182,280 662,738
05 BIZt2 & = 6,845,018 6,182,280 662,738
O MEBMD| 2F - 28 AAYSLEE
6,845,018,000& 6,845,018
403 KX SHHIS AH=20[ & 378,240 378,240 0
02 SJ|2SOCHStTHE At H 378,240 378,240 0
O M| etedx==2 378,240
- JIEE 16,000& *1,750E 120 & 336,000
- 338 16,000 * 220E 1204 & 42,240
HOI= 28 ¥ A2 st 1,344,800 1,288,469 56,331
Al 48,000
- 1,296,800
Ness 48 22 70,363 28,086 42,277
Al 28,000
- 42,363
201 B2 HH| 30,363 28,086 2,277
01 AR 2teld| 924 924 0
O HEm M2 =2 304
- 2 15,000& 12128 180
- XX 12,0002 1212 144
O dgHE23| 600
-ABE =S 50,0003 x12& 600
02 2323l 29,439 27,162 2,277
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2 3,000
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Al 14,000
2 6,000
- dgs B92 DA 10,000, 0002 * 14} 10,000
Al 7,000
2 3,000
=SellhE E2Us L WES 2045 20,800 27,403 £6,603
201 LEr2e| 3,760 3,835 AT5
01 ALR 2l 3,760 3,835 AT5
O HYgH 223 960
- HYE 3002! %2, 0000 600
- B HUADE 30,0002 * 122 360
O BAMTHY 222 HH 2,800
- WERE 4%, UsEH 22820
100,000 *50H 500
- MYD| Bela) FU RS
2302 %10, 000l CH 2,300
206 TH 2| 9,600 9,600 0
01 T2 bl 9,600 9,600 0
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saSsXdI 28 Mol 1,253,637 1,186,417 67,220
Al 20,000
- 1,233,637
201 get2Ad| 26,037 6,037 20,000
Al 20,000
- 6,037
01 A2 2t 2ldl 26,037 6,037 20,000
O SASMd ZEAH FX 6,037
- 88= 493 %113, 000AlI CH 5,537
- 8= 100, 0002 =504 500
O SS=H SASXdDI NUE SEH Al
A 20,000,000& 20,000
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O QI AHSAIE S XL
(78,000& *1,250E +6H )+(81,000&4 1,260 E +6 1,197,360
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- 122,612
59 =EEH 8,390 8,080 310
e 2o HEXI 8,390 8,080 310
201 fEt2dd| 1,130 820 310
01 AR 2tel] 1,130 820 310
O JHelot=HelAld EA0IHSXA MA
80,0003 108t A 800
O 2+d3A4 gJ[= =2 ZA 22U
- 110,000 «3&8t A 330
307 21Ztol 7,260 7,260 0
05 BIZtRE 3 7,260 7,260 0
O EaHel+48 4023
1,100& *110,000m" 0. 06 7,260
SHEA FZae 2 AERH 174,222 229,460 A55,238
Al 60,000
- 114,222
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SA EAMEN
Y HE2HYAH(HAST )
el oYU (HART D chel &
SN S(B) - NRAY - B2 Aro e =2
HY2AZH(HLET D) 3,906,760 4,541,327 A634,567
QAR AEH(HAME DY) 3,825,060 4,459,257 A634,197
QlARHH(HASMED) 3,825,060 4,459,257 A634,197
101 eI24d| 3,825,060 4,459,257 A634,197
03 RIAHAZZ2AE S 3,825,060 4,459,257 A634,197
O #Zols& 3,351,175
-Jl=2= 1,291,880 x76E «12& 1,178,195
- &= 1,896,880& 76 *300% 432,489
- M=y 1,896,880& 76 % *250% 360,408
- =g 238,944
HESL ()
40,000 x76E +0.85+12& 31,008
HESL(IIEH
20,0003 76 x1.65+12& 30,096
SR 125,000& 76 F x 123 114,000
S S g e 70,0002 x76F 122 63,840
- 22/F= Y| 546,916
ZHZ Al 160,000 76 H 128 145,920
JHAHI 2 2 H| 110,000 «76H » 12& 100,320
ns2EH 140,000 76 » 12& 127,680
R Al 1,896, 880& 76 *23| x60% 172,996
- 2224 Y 429,772
£U(E- 2 BEY)2R4Y
1,5103 76«52 322,128
2 FHUF 2R 24|
81,5103 0«6 4,402
(PN S =R RS
72,4503 76 H 152 «125% 103,242
- AEsH 2 E Y 27,651
Eigm 51,4003 15 *43] 3,084
nsstu 409,4503 x 15 *4 3| 24,567
- ?/ bl 100, 000& *76E » 123 91,200
- el S A8 Sl 50,000 x76H « 123 45,600
O gdiistad 2 409,092
- IPALEER 3,416,562,000& *2.82% 96,348
- 30z 3,416,562,000& *4.5% 153,746
- JEEEE 3,416,562,000& *1.4% 47,832
- MHEE R 3,416,562,000& *3.069% 104,855
- LoEIIEER 96,348,000 *6. 55% 6,311
O Xd teterxis K& 300, 000& 20 6,000
O 1=l 21,508
- 28= 50,0003 76 3,800
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” B . Chel (5 ” . HEE
SN -EHH . (B) - MPAY - BE2 Aol il i~ o
- gst= 80,0003 76X 6,080
- 29 47,0002 76 3,572
- Agst 40,0003 76 3,040
e 30,0002 +76% 2,280
- AH2X 5,000& x76H »23] 760
- 0IS2EEY 500 «76H x52== 1,976
O HEE GRFL(Y - £
50,0002 1.3 x3652 23,725
O 2Z0Istd LHAE 40,000 76 3,040
O HM=ls Ex=3 N& 20,0003 76 1,520
O &8I J183 1,000,000& 9 9,000
[22H(H A 81,700 82,070
J23H(BA#A M) 81,700 82,070
201 Lyt Y] 17,500 17,500
01 AR 2t eld| 16,500 16,500
CIEVEL-PIEE=-11
40,0003 »25H « 122 +85% 10,200
O 2AIIZR48 S|
7,00021 %25% +341 #1224 6,300
02 23294l 1,000 1,000
O PC & AMEZHl |XHI 200,000& »52] 1,000
202 044l 60,000 60,000
01 =2 A bl 60,000 60,000
O = 2H0iHl 20,0008 %108 x25% « 122 60,000
203 J =&l 4,200 3,570
04 RNRHAREEY| 4,200 3,570
O FAN2EHERFEHI 350,000 «12& 4,200




